

Some properties of monotonous fuzzy set operator applied to fuzzy set equations and inequations

Vanja Stepanović

Novi Sad, 15th of June, 2017.

Fuzzy sets and fuzzy relations on a set

If L is a lattice, A a nonempty set

$\mu : A \rightarrow L$ - a fuzzy set on A with membership values in L

Fuzzy sets and fuzzy relations on a set

If L is a lattice, A a nonempty set

$\mu : A \rightarrow L$ - a fuzzy set on A with membership values in L

$$\mathcal{F}(A) := \{\mu \mid \mu : A \rightarrow L\}.$$

Fuzzy sets and fuzzy relations on a set

If L is a lattice, A a nonempty set

$\mu : A \rightarrow L$ - a fuzzy set on A with membership values in L

$$\mathcal{F}(A) := \{\mu \mid \mu : A \rightarrow L\}.$$

L - co-domain lattice of $\mathcal{F}(A)$.

Fuzzy sets and fuzzy relations on a set

If L is a lattice, A a nonempty set

$\mu : A \rightarrow L$ - a fuzzy set on A with membership values in L

$$\mathcal{F}(A) := \{\mu \mid \mu : A \rightarrow L\}.$$

L - co-domain lattice of $\mathcal{F}(A)$.

If L is a complete lattice, so is $\mathcal{F}(A)$, related to the ordering \subseteq :

Fuzzy sets and fuzzy relations on a set

If L is a lattice, A a nonempty set

$\mu : A \rightarrow L$ - a fuzzy set on A with membership values in L

$$\mathcal{F}(A) := \{\mu \mid \mu : A \rightarrow L\}.$$

L - co-domain lattice of $\mathcal{F}(A)$.

If L is a complete lattice, so is $\mathcal{F}(A)$, related to the ordering \subseteq :

$\mu \subseteq \nu$ if and only if $\mu(x) \leq \nu(x)$ for every $x \in A$.

Fuzzy sets and fuzzy relations on a set

If L is a lattice, A a nonempty set

$\mu : A \rightarrow L$ - a fuzzy set on A with membership values in L

$$\mathcal{F}(A) := \{\mu \mid \mu : A \rightarrow L\}.$$

L - co-domain lattice of $\mathcal{F}(A)$.

If L is a complete lattice, so is $\mathcal{F}(A)$, related to the ordering \subseteq :

$\mu \subseteq \nu$ if and only if $\mu(x) \leq \nu(x)$ for every $x \in A$.

$$\bigcup_{i \in I} \mu_i(x) = \bigvee_{i \in I} \mu_i(x);$$

and

$$\bigcap_{i \in I} \mu_i(x) = \bigwedge_{i \in I} \mu_i(x).$$

Fuzzy sets and fuzzy relations on a set

A fuzzy set on a square of a nonempty set A , i.e., a mapping $R : A^2 \rightarrow L$ is a **fuzzy (binary) relation** on A , or an **L -valued relation** on A .

Fuzzy sets and fuzzy relations on a set

A fuzzy set on a square of a nonempty set A , i.e., a mapping $R : A^2 \rightarrow L$ is a **fuzzy (binary) relation** on A , or an **L -valued relation** on A .

$$R \text{ is } \mathbf{reflexive} \text{ if } R(x, x) = 1 \text{ for all } x \in A; \quad (1)$$

Fuzzy sets and fuzzy relations on a set

A fuzzy set on a square of a nonempty set A , i.e., a mapping $R : A^2 \rightarrow L$ is a **fuzzy (binary) relation** on A , or an **L -valued relation** on A .

$$R \text{ is } \mathbf{reflexive} \text{ if } R(x, x) = 1 \text{ for all } x \in A; \quad (1)$$

$$R \text{ is } \mathbf{symmetric} \text{ if } R(x, y) = R(y, x) \text{ for all } x, y \in A; \quad (2)$$

Fuzzy sets and fuzzy relations on a set

A fuzzy set on a square of a nonempty set A , i.e., a mapping $R : A^2 \rightarrow L$ is a **fuzzy (binary) relation** on A , or an **L -valued relation** on A .

$$R \text{ is } \mathbf{reflexive} \text{ if } R(x, x) = 1 \text{ for all } x \in A; \quad (1)$$

$$R \text{ is } \mathbf{symmetric} \text{ if } R(x, y) = R(y, x) \text{ for all } x, y \in A; \quad (2)$$

$$R \text{ is } \mathbf{transitive} \text{ if } R(x, y) \geq \bigvee_{z \in A} (R(x, z) \wedge R(z, y)) \text{ for all } x, y \in A, \quad (3)$$

which is equivalent with

$$R(x, y) \geq R(x, z) \wedge R(z, y), \text{ for all } x, y, z \in A.$$

Given a fuzzy set $\mu : A \rightarrow L$ and a fuzzy relation $R : A^2 \rightarrow L$, we define the left and the right composition of μ with R as follows:

Given a fuzzy set $\mu : A \rightarrow L$ and a fuzzy relation $R : A^2 \rightarrow L$, we define the left and the right composition of μ with R as follows:

$$(R \circ \mu)(x) = \bigvee_{y \in A} (R(x, y) \wedge \mu(y))$$

Given a fuzzy set $\mu : A \rightarrow L$ and a fuzzy relation $R : A^2 \rightarrow L$, we define the left and the right composition of μ with R as follows:

$$(R \circ \mu)(x) = \bigvee_{y \in A} (R(x, y) \wedge \mu(y))$$

$$(\mu \circ R)(x) = \bigvee_{y \in A} (\mu(y) \wedge R(y, x))$$

Given a fuzzy set $\mu : A \rightarrow L$ and a fuzzy relation $R : A^2 \rightarrow L$, we define the left and the right composition of μ with R as follows:

$$(R \circ \mu)(x) = \bigvee_{y \in A} (R(x, y) \wedge \mu(y))$$

$$(\mu \circ R)(x) = \bigvee_{y \in A} (\mu(y) \wedge R(y, x))$$

Given two fuzzy relations, P and Q , we may define their composition:

Given a fuzzy set $\mu : A \rightarrow L$ and a fuzzy relation $R : A^2 \rightarrow L$, we define the left and the right composition of μ with R as follows:

$$(R \circ \mu)(x) = \bigvee_{y \in A} (R(x, y) \wedge \mu(y))$$

$$(\mu \circ R)(x) = \bigvee_{y \in A} (\mu(y) \wedge R(y, x))$$

Given two fuzzy relations, P and Q , we may define their composition:

$$(P \circ Q)(x, y) = \bigvee_{z \in A} (P(x, z) \wedge Q(z, y))$$

Given a fuzzy set $\mu : A \rightarrow L$ and a fuzzy relation $R : A^2 \rightarrow L$, we define the left and the right composition of μ with R as follows:

$$(R \circ \mu)(x) = \bigvee_{y \in A} (R(x, y) \wedge \mu(y))$$

$$(\mu \circ R)(x) = \bigvee_{y \in A} (\mu(y) \wedge R(y, x))$$

Given two fuzzy relations, P and Q , we may define their composition:

$$(P \circ Q)(x, y) = \bigvee_{z \in A} (P(x, z) \wedge Q(z, y))$$

Given a relation R , we consider fuzzy set equations and inequations with the unknown fuzzy set μ :

Given a fuzzy set $\mu : A \rightarrow L$ and a fuzzy relation $R : A^2 \rightarrow L$, we define the left and the right composition of μ with R as follows:

$$(R \circ \mu)(x) = \bigvee_{y \in A} (R(x, y) \wedge \mu(y))$$

$$(\mu \circ R)(x) = \bigvee_{y \in A} (\mu(y) \wedge R(y, x))$$

Given two fuzzy relations, P and Q , we may define their composition:

$$(P \circ Q)(x, y) = \bigvee_{z \in A} (P(x, z) \wedge Q(z, y))$$

Given a relation R , we consider fuzzy set equations and inequations with the unknown fuzzy set μ :

$$R \circ \mu = \mu, R \circ \mu \leq \mu, \mu \circ R = \mu, \mu \circ R \leq \mu$$

Given a fuzzy set $\mu : A \rightarrow L$ and a fuzzy relation $R : A^2 \rightarrow L$, we define the left and the right composition of μ with R as follows:

$$(R \circ \mu)(x) = \bigvee_{y \in A} (R(x, y) \wedge \mu(y))$$

$$(\mu \circ R)(x) = \bigvee_{y \in A} (\mu(y) \wedge R(y, x))$$

Given two fuzzy relations, P and Q , we may define their composition:

$$(P \circ Q)(x, y) = \bigvee_{z \in A} (P(x, z) \wedge Q(z, y))$$

Given a relation R , we consider fuzzy set equations and inequations with the unknown fuzzy set μ :

$$R \circ \mu = \mu, R \circ \mu \leq \mu, \mu \circ R = \mu, \mu \circ R \leq \mu$$

Transitivity of a relation R may be described in terms of the fuzzy relational composition

Given a fuzzy set $\mu : A \rightarrow L$ and a fuzzy relation $R : A^2 \rightarrow L$, we define the left and the right composition of μ with R as follows:

$$(R \circ \mu)(x) = \bigvee_{y \in A} (R(x, y) \wedge \mu(y))$$

$$(\mu \circ R)(x) = \bigvee_{y \in A} (\mu(y) \wedge R(y, x))$$

Given two fuzzy relations, P and Q , we may define their composition:

$$(P \circ Q)(x, y) = \bigvee_{z \in A} (P(x, z) \wedge Q(z, y))$$

Given a relation R , we consider fuzzy set equations and inequations with the unknown fuzzy set μ :

$$R \circ \mu = \mu, R \circ \mu \leq \mu, \mu \circ R = \mu, \mu \circ R \leq \mu$$

Transitivity of a relation R may be described in terms of the fuzzy relational composition

$$R \circ R \leq R$$

Given a fuzzy set $\mu : A \rightarrow L$ and a fuzzy relation $R : A^2 \rightarrow L$, we define the left and the right composition of μ with R as follows:

$$(R \circ \mu)(x) = \bigvee_{y \in A} (R(x, y) \wedge \mu(y))$$

$$(\mu \circ R)(x) = \bigvee_{y \in A} (\mu(y) \wedge R(y, x))$$

Given two fuzzy relations, P and Q , we may define their composition:

$$(P \circ Q)(x, y) = \bigvee_{z \in A} (P(x, z) \wedge Q(z, y))$$

Given a relation R , we consider fuzzy set equations and inequations with the unknown fuzzy set μ :

$$R \circ \mu = \mu, R \circ \mu \leq \mu, \mu \circ R = \mu, \mu \circ R \leq \mu$$

Transitivity of a relation R may be described in terms of the fuzzy relational composition

$$R \circ R \leq R$$

Connected with this is the fuzzy relational equation:

Given a fuzzy set $\mu : A \rightarrow L$ and a fuzzy relation $R : A^2 \rightarrow L$, we define the left and the right composition of μ with R as follows:

$$(R \circ \mu)(x) = \bigvee_{y \in A} (R(x, y) \wedge \mu(y))$$

$$(\mu \circ R)(x) = \bigvee_{y \in A} (\mu(y) \wedge R(y, x))$$

Given two fuzzy relations, P and Q , we may define their composition:

$$(P \circ Q)(x, y) = \bigvee_{z \in A} (P(x, z) \wedge Q(z, y))$$

Given a relation R , we consider fuzzy set equations and inequations with the unknown fuzzy set μ :

$$R \circ \mu = \mu, R \circ \mu \leq \mu, \mu \circ R = \mu, \mu \circ R \leq \mu$$

Transitivity of a relation R may be described in terms of the fuzzy relational composition

$$R \circ R \leq R$$

Connected with this is the fuzzy relational equation:

$$R \circ R = R$$

Given a fuzzy set $\mu : A \rightarrow L$ and a fuzzy relation $R : A^2 \rightarrow L$, we define the left and the right composition of μ with R as follows:

$$(R \circ \mu)(x) = \bigvee_{y \in A} (R(x, y) \wedge \mu(y))$$

$$(\mu \circ R)(x) = \bigvee_{y \in A} (\mu(y) \wedge R(y, x))$$

Given two fuzzy relations, P and Q , we may define their composition:

$$(P \circ Q)(x, y) = \bigvee_{z \in A} (P(x, z) \wedge Q(z, y))$$

Given a relation R , we consider fuzzy set equations and inequations with the unknown fuzzy set μ :

$$R \circ \mu = \mu, R \circ \mu \leq \mu, \mu \circ R = \mu, \mu \circ R \leq \mu$$

Transitivity of a relation R may be described in terms of the fuzzy relational composition

$$R \circ R \leq R$$

Connected with this is the fuzzy relational equation:

$$R \circ R = R$$

The property of being solution to this equation we shall call the **exact transitivity**.

Consider the fuzzy set inequation $\mu \circ R \leq \mu$, where R is a given relation, and μ is the unknown relation.

Consider the fuzzy set inequation $\mu \circ R \leq \mu$, where R is a given relation, and μ is the unknown relation.

Let ν be the solution to this inequation, i.e. let $\nu \circ R \subseteq \nu$.

Consider the fuzzy set inequation $\mu \circ R \leq \mu$, where R is a given relation, and μ is the unknown relation.

Let ν be the solution to this inequation, i.e. let $\nu \circ R \subseteq \nu$.

Starting with ν we may generate a descending chain of solutions to the same inequation, by iterative composing with the same relation.

Consider the fuzzy set inequation $\mu \circ R \leq \mu$, where R is a given relation, and μ is the unknown relation.

Let ν be the solution to this inequation, i.e. let $\nu \circ R \subseteq \nu$.

Starting with ν we may generate a descending chain of solutions to the same inequation, by iterative composing with the same relation.

Proposition (J. Jimenez, S. Montes, B. Šešelja, A. Tepavčević)

If $\nu \circ R \subseteq \nu$, then there is a descending chain $(\nu_n)_{n \in \mathbb{N}_0}$ of solutions to the same inequation, defined inductively as follows:

$$\nu_0 = \nu$$

$$\nu_k = \nu_{k-1} \circ R, \text{ for all } k \in \mathbb{N}.$$

Consider the fuzzy set inequation $\mu \circ R \leq \mu$, where R is a given relation, and μ is the unknown relation.

Let ν be the solution to this inequation, i.e. let $\nu \circ R \subseteq \nu$.

Starting with ν we may generate a descending chain of solutions to the same inequation, by iterative composing with the same relation.

Proposition (J. Jimenez, S. Montes, B. Šešelja, A. Tepavčević)

If $\nu \circ R \subseteq \nu$, then there is a descending chain $(\nu_n)_{n \in \mathbb{N}_0}$ of solutions to the same inequation, defined inductively as follows:

$$\nu_0 = \nu$$

$$\nu_k = \nu_{k-1} \circ R, \text{ for all } k \in \mathbb{N}.$$

Consider the descending chain we get according to this proposition:

Consider the fuzzy set inequation $\mu \circ R \leq \mu$, where R is a given relation, and μ is the unknown relation.

Let ν be the solution to this inequation, i.e. let $\nu \circ R \subseteq \nu$.

Starting with ν we may generate a descending chain of solutions to the same inequation, by iterative composing with the same relation.

Proposition (J. Jimenez, S. Montes, B. Šešelja, A. Tepavčević)

If $\nu \circ R \subseteq \nu$, then there is a descending chain $(\nu_n)_{n \in \mathbb{N}_0}$ of solutions to the same inequation, defined inductively as follows:

$$\nu_0 = \nu$$

$$\nu_k = \nu_{k-1} \circ R, \text{ for all } k \in \mathbb{N}.$$

Consider the descending chain we get according to this proposition:

$$\nu_0 \supseteq \nu_1 \supseteq \nu_2 \supseteq \nu_3 \supseteq \dots$$

Consider the fuzzy set inequation $\mu \circ R \leq \mu$, where R is a given relation, and μ is the unknown relation.

Let ν be the solution to this inequation, i.e. let $\nu \circ R \subseteq \nu$.

Starting with ν we may generate a descending chain of solutions to the same inequation, by iterative composing with the same relation.

Proposition (J. Jimenez, S. Montes, B. Šešelja, A. Tepavčević)

If $\nu \circ R \subseteq \nu$, then there is a descending chain $(\nu_n)_{n \in \mathbb{N}_0}$ of solutions to the same inequation, defined inductively as follows:

$$\nu_0 = \nu$$

$$\nu_k = \nu_{k-1} \circ R, \text{ for all } k \in \mathbb{N}.$$

Consider the descending chain we get according to this proposition:

$$\nu_0 \supseteq \nu_1 \supseteq \nu_2 \supseteq \nu_3 \supseteq \dots$$

If any of the mentioned solutions is also the solution to the equation $\mu \circ R = \mu$, the chain will stop after some steps:

Consider the fuzzy set inequation $\mu \circ R \leq \mu$, where R is a given relation, and μ is the unknown relation.

Let ν be the solution to this inequation, i.e. let $\nu \circ R \subseteq \nu$.

Starting with ν we may generate a descending chain of solutions to the same inequation, by iterative composing with the same relation.

Proposition (J. Jimenez, S. Montes, B. Šešelja, A. Tepavčević)

If $\nu \circ R \subseteq \nu$, then there is a descending chain $(\nu_n)_{n \in \mathbb{N}_0}$ of solutions to the same inequation, defined inductively as follows:

$$\nu_0 = \nu$$

$$\nu_k = \nu_{k-1} \circ R, \text{ for all } k \in \mathbb{N}.$$

Consider the descending chain we get according to this proposition:

$$\nu_0 \supseteq \nu_1 \supseteq \nu_2 \supseteq \nu_3 \supseteq \dots$$

If any of the mentioned solutions is also the solution to the equation $\mu \circ R = \mu$, the chain will stop after some steps:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \dots \supset \nu_k = \nu_{k+1} = \nu_{k+2} = \dots$$

Now, consider the set $s_R^\nu = \{\nu_0, \nu_1, \dots\}$ of the elements of the chain, which is also a set of solutions to the inequation $\mu \circ R \leq \mu$.

Now, consider the set $s_R^\nu = \{\nu_0, \nu_1, \dots\}$ of the elements of the chain, which is also a set of solutions to the inequation $\mu \circ R \leq \mu$. All the elements of s_R^ν belong to L^A . If L and A are finite, so is L^A .

Now, consider the set $s_R^\nu = \{\nu_0, \nu_1, \dots\}$ of the elements of the chain, which is also a set of solutions to the inequation $\mu \circ R \leq \mu$. All the elements of s_R^ν belong to L^A . If L and A are finite, so is L^A . Therefore, the set $s_R^\nu = \{\nu_0, \nu_1, \dots\}$ is finite and the chain $\nu_0 \supseteq \nu_1 \supseteq \nu_2 \supseteq \nu_3 \supseteq \dots$ must stop in some steps.

Now, consider the set $s_R^\nu = \{\nu_0, \nu_1, \dots\}$ of the elements of the chain, which is also a set of solutions to the inequation $\mu \circ R \leq \mu$. All the elements of s_R^ν belong to L^A . If L and A are finite, so is L^A . Therefore, the set $s_R^\nu = \{\nu_0, \nu_1, \dots\}$ is finite and the chain $\nu_0 \supseteq \nu_1 \supseteq \nu_2 \supseteq \nu_3 \supseteq \dots$ must stop in some steps.

Theorem (J. Jimenez, S. Montes, B. Šešelja, A. Tepavčević)

Let $R : A^2 \rightarrow L$ be a fuzzy binary relation on a finite set A and let the lattice L be also finite. Then, for every μ , there is a solution in s_R^ν to the equation:

$$\bigvee_{x \in X} (\mu(x) \wedge R(x, y)) = \mu(y).$$

Now, consider the set $s_R^\nu = \{\nu_0, \nu_1, \dots\}$ of the elements of the chain, which is also a set of solutions to the inequation $\mu \circ R \leq \mu$. All the elements of s_R^ν belong to L^A . If L and A are finite, so is L^A . Therefore, the set $s_R^\nu = \{\nu_0, \nu_1, \dots\}$ is finite and the chain $\nu_0 \supseteq \nu_1 \supseteq \nu_2 \supseteq \nu_3 \supseteq \dots$ must stop in some steps.

Theorem (J. Jimenez, S. Montes, B. Šešelja, A. Tepavčević)

Let $R : A^2 \rightarrow L$ be a fuzzy binary relation on a finite set A and let the lattice L be also finite. Then, for every μ , there is a solution in s_R^ν to the equation:

$$\bigvee_{x \in X} (\mu(x) \wedge R(x, y)) = \mu(y).$$

What if L or A is infinite?

If L and/or A is infinite, then L^A is infinite, and we can get a strictly descending sequence:

If L and/or A is infinite, then L^A is infinite, and we can get a strictly descending sequence:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \dots$$

If L and/or A is infinite, then L^A is infinite, and we can get a strictly descending sequence:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \dots$$

There is no guaranty that we shall get any solution to the equation $\mu \circ R = \mu$. Is there anything we can do about this?

If L and/or A is infinite, then L^A is infinite, and we can get a strictly descending sequence:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \dots$$

There is no guaranty that we shall get any solution to the equation $\mu \circ R = \mu$. Is there anything we can do about this?

Although L^A is infinite, it is still "definite", i.e. the number of L -valued fuzzy subsets of A is definite, if we take the more general notion of cardinal number.

If L and/or A is infinite, then L^A is infinite, and we can get a strictly descending sequence:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \dots$$

There is no guaranty that we shall get any solution to the equation $\mu \circ R = \mu$. Is there anything we can do about this?

Although L^A is infinite, it is still "definite", i.e. the number of L -valued fuzzy subsets of A is definite, if we take the more general notion of cardinal number.

We shall prolong this chain, taking its intersection, i.e. its infimum:

If L and/or A is infinite, then L^A is infinite, and we can get a strictly descending sequence:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \dots$$

There is no guaranty that we shall get any solution to the equation $\mu \circ R = \mu$. Is there anything we can do about this?

Although L^A is infinite, it is still "definite", i.e. the number of L -valued fuzzy subsets of A is definite, if we take the more general notion of cardinal number.

We shall prolong this chain, taking its intersection, i.e. its infimum:

$$\nu_\omega = \nu_0 \cap \nu_1 \cap \nu_2 \cap \nu_3 \cap \dots$$

If L and/or A is infinite, then L^A is infinite, and we can get a strictly descending sequence:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \dots$$

There is no guaranty that we shall get any solution to the equation $\mu \circ R = \mu$. Is there anything we can do about this?

Although L^A is infinite, it is still "definite", i.e. the number of L -valued fuzzy subsets of A is definite, if we take the more general notion of cardinal number.

We shall prolong this chain, taking its intersection, i.e. its infimum:

$$\nu_\omega = \nu_0 \cap \nu_1 \cap \nu_2 \cap \nu_3 \cap \dots$$

We may prove that ν_ω is a solution to the inequation $\mu \circ R \leq \mu$.

If L and/or A is infinite, then L^A is infinite, and we can get a strictly descending sequence:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \dots$$

There is no guaranty that we shall get any solution to the equation $\mu \circ R = \mu$. Is there anything we can do about this?

Although L^A is infinite, it is still "definite", i.e. the number of L -valued fuzzy subsets of A is definite, if we take the more general notion of cardinal number.

We shall prolong this chain, taking its intersection, i.e. its infimum:

$$\nu_\omega = \nu_0 \cap \nu_1 \cap \nu_2 \cap \nu_3 \cap \dots$$

We may prove that ν_ω is a solution to the inequation $\mu \circ R \leq \mu$.

Thus, we get another, prolonged chain of solutions to the inequation $\mu \circ R \leq \mu$:

If L and/or A is infinite, then L^A is infinite, and we can get a strictly descending sequence:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \dots$$

There is no guaranty that we shall get any solution to the equation $\mu \circ R = \mu$. Is there anything we can do about this?

Although L^A is infinite, it is still "definite", i.e. the number of L -valued fuzzy subsets of A is definite, if we take the more general notion of cardinal number.

We shall prolong this chain, taking its intersection, i.e. its infimum:

$$\nu_\omega = \nu_0 \cap \nu_1 \cap \nu_2 \cap \nu_3 \cap \dots$$

We may prove that ν_ω is a solution to the inequation $\mu \circ R \leq \mu$.

Thus, we get another, prolonged chain of solutions to the inequation $\mu \circ R \leq \mu$:

$$\nu_0 \supseteq \nu_1 \supseteq \nu_2 \supseteq \nu_3 \supseteq \dots \supseteq \nu_k \supseteq \dots \supseteq \nu_\omega$$

Suppose all the inclusions in the initial sequence are strict, i.e. we have strictly descending sequence of solutions to the inequation $\mu \circ R \leq \mu$:

Suppose all the inclusions in the initial sequence are strict, i.e. we have strictly descending sequence of solutions to the inequation

$$\mu \circ R \leq \mu:$$

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_k \supset \cdots$$

Suppose all the inclusions in the initial sequence are strict, i.e. we have strictly descending sequence of solutions to the inequation

$$\mu \circ R \leq \mu:$$

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_k \supset \cdots$$

Then the intersection ν_ω is a strict subset of all the sets in the sequence, i.e. we have

Suppose all the inclusions in the initial sequence are strict, i.e. we have strictly descending sequence of solutions to the inequation

$$\mu \circ R \leq \mu:$$

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_k \supset \cdots$$

Then the intersection ν_ω is a strict subset of all the sets in the sequence, i.e. we have

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_k \supset \cdots \supset \nu_\omega$$

Suppose all the inclusions in the initial sequence are strict, i.e. we have strictly descending sequence of solutions to the inequation

$$\mu \circ R \leq \mu:$$

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_k \supset \cdots$$

Then the intersection ν_ω is a strict subset of all the sets in the sequence, i.e. we have

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_k \supset \cdots \supset \nu_\omega$$

Applying the same process to ν_ω as we did to ν , we get a prolonged chain of solutions to the inequation $\mu \circ R \leq \mu$:

Suppose all the inclusions in the initial sequence are strict, i.e. we have strictly descending sequence of solutions to the inequation

$$\mu \circ R \leq \mu:$$

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_k \supset \cdots$$

Then the intersection ν_ω is a strict subset of all the sets in the sequence, i.e. we have

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_k \supset \cdots \supset \nu_\omega$$

Applying the same process to ν_ω as we did to ν , we get a prolonged chain of solutions to the inequation $\mu \circ R \leq \mu$:

$$\nu_0 \supseteq \nu_1 \supseteq \nu_2 \supseteq \nu_3 \supseteq \cdots \supseteq \nu_\omega \supseteq \nu_{\omega+1} \supseteq \cdots$$

Suppose all the inclusions in the initial sequence are strict, i.e. we have strictly descending sequence of solutions to the inequation

$$\mu \circ R \leq \mu:$$

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_k \supset \cdots$$

Then the intersection ν_ω is a strict subset of all the sets in the sequence, i.e. we have

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_k \supset \cdots \supset \nu_\omega$$

Applying the same process to ν_ω as we did to ν , we get a prolonged chain of solutions to the inequation $\mu \circ R \leq \mu$:

$$\nu_0 \supseteq \nu_1 \supseteq \nu_2 \supseteq \nu_3 \supseteq \cdots \supseteq \nu_\omega \supseteq \nu_{\omega+1} \supseteq \cdots$$

We may continue this process to an arbitrary infinity, using transfinite induction, i.e. by transfinite recursion we may define for every ordinal number i the fuzzy set ν_i :

Suppose all the inclusions in the initial sequence are strict, i.e. we have strictly descending sequence of solutions to the inequation

$$\mu \circ R \leq \mu:$$

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_k \supset \cdots$$

Then the intersection ν_ω is a strict subset of all the sets in the sequence, i.e. we have

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_k \supset \cdots \supset \nu_\omega$$

Applying the same process to ν_ω as we did to ν , we get a prolonged chain of solutions to the inequation $\mu \circ R \leq \mu$:

$$\nu_0 \supseteq \nu_1 \supseteq \nu_2 \supseteq \nu_3 \supseteq \cdots \supseteq \nu_\omega \supseteq \nu_{\omega+1} \supseteq \cdots$$

We may continue this process to an arbitrary infinity, using transfinite induction, i.e. by transfinite recursion we may define for every ordinal number i the fuzzy set ν_i :

if i has an immediate predecessor, then $\nu_i = \nu_{i-1} \circ R$

Suppose all the inclusions in the initial sequence are strict, i.e. we have strictly descending sequence of solutions to the inequation

$$\mu \circ R \leq \mu:$$

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_k \supset \cdots$$

Then the intersection ν_ω is a strict subset of all the sets in the sequence, i.e. we have

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_k \supset \cdots \supset \nu_\omega$$

Applying the same process to ν_ω as we did to ν , we get a prolonged chain of solutions to the inequation $\mu \circ R \leq \mu$:

$$\nu_0 \supseteq \nu_1 \supseteq \nu_2 \supseteq \nu_3 \supseteq \cdots \supseteq \nu_\omega \supseteq \nu_{\omega+1} \supseteq \cdots$$

We may continue this process to an arbitrary infinity, using transfinite induction, i.e. by transfinite recursion we may define for every ordinal number i the fuzzy set ν_i :

if i has an immediate predecessor, then $\nu_i = \nu_{i-1} \circ R$

if i has no immediate predecessor, then $\nu_i = \bigcap \{\nu_j \mid j < i\}$

Now, take an arbitrary ordinal j . If for any two subsequent ordinals i and $i + 1$, less or equal than j , we have strict fuzzy set inclusion, i.e. if $\nu_i \supset \nu_{i+1}$, then all the elements of the chain $(\{\nu_i \mid i \leq j\}, \supseteq)$ are different:

Now, take an arbitrary ordinal j . If for any two subsequent ordinals i and $i + 1$, less or equal than j , we have strict fuzzy set inclusion, i.e. if $\nu_i \supset \nu_{i+1}$, then all the elements of the chain $(\{\nu_i \mid i \leq j\}, \supset)$ are different:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_\omega \supset \nu_{\omega+1} \supset \cdots$$

Now, take an arbitrary ordinal j . If for any two subsequent ordinals i and $i + 1$, less or equal than j , we have strict fuzzy set inclusion, i.e. if $\nu_i \supset \nu_{i+1}$, then all the elements of the chain $(\{\nu_i \mid i \leq j\}, \supset)$ are different:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_\omega \supset \nu_{\omega+1} \supset \cdots$$

But this would not be possible if we take an ordinal j of the cardinal number greater than that of L^A , thus for some ordinals $i < i'$:

Now, take an arbitrary ordinal j . If for any two subsequent ordinals i and $i + 1$, less or equal than j , we have strict fuzzy set inclusion, i.e. if $\nu_i \supset \nu_{i+1}$, then all the elements of the chain $(\{\nu_i \mid i \leq j\}, \supset)$ are different:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_\omega \supset \nu_{\omega+1} \supset \cdots$$

But this would not be possible if we take an ordinal j of the cardinal number greater than that of L^A , thus for some ordinals

$$i < i':$$

$$\nu_i = \nu_{i'}$$

Now, take an arbitrary ordinal j . If for any two subsequent ordinals i and $i + 1$, less or equal than j , we have strict fuzzy set inclusion, i.e. if $\nu_i \supset \nu_{i+1}$, then all the elements of the chain $(\{\nu_i \mid i \leq j\}, \supset)$ are different:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_\omega \supset \nu_{\omega+1} \supset \cdots$$

But this would not be possible if we take an ordinal j of the cardinal number greater than that of L^A , thus for some ordinals $i < i'$:

$$\nu_i = \nu_{i'}$$

Observe that then we have:

Now, take an arbitrary ordinal j . If for any two subsequent ordinals i and $i + 1$, less or equal than j , we have strict fuzzy set inclusion, i.e. if $\nu_i \supset \nu_{i+1}$, then all the elements of the chain $(\{\nu_i \mid i \leq j\}, \supset)$ are different:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_\omega \supset \nu_{\omega+1} \supset \cdots$$

But this would not be possible if we take an ordinal j of the cardinal number greater than that of L^A , thus for some ordinals $i < i'$:

$$\nu_i = \nu_{i'}$$

Observe that then we have:

$$\nu_i = \nu_{i+1} = \nu_i \circ R;$$

Now, take an arbitrary ordinal j . If for any two subsequent ordinals i and $i + 1$, less or equal than j , we have strict fuzzy set inclusion, i.e. if $\nu_i \supset \nu_{i+1}$, then all the elements of the chain $(\{\nu_i \mid i \leq j\}, \supseteq)$ are different:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_\omega \supset \nu_{\omega+1} \supset \cdots$$

But this would not be possible if we take an ordinal j of the cardinal number greater than that of L^A , thus for some ordinals $i < i'$:

$$\nu_i = \nu_{i'}$$

Observe that then we have:

$$\nu_i = \nu_{i+1} = \nu_i \circ R;$$

Thus, ν_i is a solution to the equation:

$$\mu \circ R = \mu, \text{ i.e. a solution to the equation:}$$

Now, take an arbitrary ordinal j . If for any two subsequent ordinals i and $i + 1$, less or equal than j , we have strict fuzzy set inclusion, i.e. if $\nu_i \supset \nu_{i+1}$, then all the elements of the chain $(\{\nu_i \mid i \leq j\}, \supseteq)$ are different:

$$\nu_0 \supset \nu_1 \supset \nu_2 \supset \nu_3 \supset \cdots \supset \nu_\omega \supset \nu_{\omega+1} \supset \cdots$$

But this would not be possible if we take an ordinal j of the cardinal number greater than that of L^A , thus for some ordinals $i < i'$:

$$\nu_i = \nu_{i'}$$

Observe that then we have:

$$\nu_i = \nu_{i+1} = \nu_i \circ R;$$

Thus, ν_i is a solution to the equation:

$\mu \circ R = \mu$, i.e. a solution to the equation:

$$\mu(y) = \bigvee_{x \in A} (\mu(x) \wedge R(x, y))$$

Thus, starting with a solution to the inequation $\mu \circ R \leq \mu$, going down the chain

$$\nu_0 \supseteq \nu_1 \supseteq \nu_2 \supseteq \nu_3 \supseteq \cdots \supseteq \nu_\omega \supseteq \nu_{\omega+1} \supseteq \cdots$$

we finally get to the solution to the equation:

$$\mu \circ R = \mu.$$

Thus, starting with a solution to the inequation $\mu \circ R \leq \mu$, going down the chain

$$\nu_0 \supseteq \nu_1 \supseteq \nu_2 \supseteq \nu_3 \supseteq \cdots \supseteq \nu_\omega \supseteq \nu_{\omega+1} \supseteq \cdots$$

we finally get to the solution to the equation:

$$\mu \circ R = \mu.$$

We shall denote it by $\underline{\nu}$, suggesting that this is the lowest fuzzy set we may get starting with ν (as a solution to the inequation $\mu \circ R \leq \mu$) and using this transfinite process.

Using transfinite induction we may prove that this is not only the solution to the above equation, but also the greatest solution to that equation contained in the initial set μ .

Using transfinite induction we may prove that this is not only the solution to the above equation, but also the greatest solution to that equation contained in the initial set μ .

But this extremal solution we reached from above can also be reached from beneath.

Using transfinite induction we may prove that this is not only the solution to the above equation, but also the greatest solution to that equation contained in the initial set μ .

But this extremal solution we reached from above can also be reached from beneath.

It comes out that this solution may be seen as the maximum of the set of solutions to the opposite inequation, i.e.:

Using transfinite induction we may prove that this is not only the solution to the above equation, but also the greatest solution to that equation contained in the initial set μ .

But this extremal solution we reached from above can also be reached from beneath.

It comes out that this solution may be seen as the maximum of the set of solutions to the opposite inequation, i.e.:

$$\underline{\nu} = \max\{\nu \in L^A \mid \nu \circ R \geq \nu\}.$$

Using transfinite induction we may prove that this is not only the solution to the above equation, but also the greatest solution to that equation contained in the initial set μ .

But this extremal solution we reached from above can also be reached from beneath.

It comes out that this solution may be seen as the maximum of the set of solutions to the opposite inequation, i.e.:

$$\underline{\nu} = \max\{\nu \in L^A \mid \nu \circ R \geq \nu\}.$$

It can also be seen as maximum of the set of solutions to the corresponding equation, i.e.

Using transfinite induction we may prove that this is not only the solution to the above equation, but also the greatest solution to that equation contained in the initial set μ .

But this extremal solution we reached from above can also be reached from beneath.

It comes out that this solution may be seen as the maximum of the set of solutions to the opposite inequation, i.e.:

$$\underline{\nu} = \max\{\nu \in L^A \mid \nu \circ R \geq \nu\}.$$

It can also be seen as maximum of the set of solutions to the corresponding equation, i.e.

$$\underline{\nu} = \max\{\nu \in L^A \mid \nu \circ R = \nu\}.$$

Using transfinite induction we may prove that this is not only the solution to the above equation, but also the greatest solution to that equation contained in the initial set μ .

But this extremal solution we reached from above can also be reached from beneath.

It comes out that this solution may be seen as the maximum of the set of solutions to the opposite inequation, i.e:

$$\underline{\nu} = \max\{\nu \in L^A \mid \nu \circ R \geq \nu\}.$$

It can also be seen as maximum of the set of solutions to the corresponding equation, i.e.

$$\underline{\nu} = \max\{\nu \in L^A \mid \nu \circ R = \nu\}.$$

There is, however, no guaranty that this will be a non-zero solution; still it's important that this set of solutions of the equation $\mu \circ R = \mu$ contained in ν has the maximum.

In order to make the things more general and applicable to many other situations, observe the following:

In order to make the things more general and applicable to many other situations, observe the following:

$$\phi(\mu) = \mu \circ R$$

Given a fuzzy relation R , the left (right) composition of fuzzy sets with R may be seen as an operator on $\mathcal{F}(A)$:

In order to make the things more general and applicable to many other situations, observe the following:

$$\phi(\mu) = \mu \circ R$$

Given a fuzzy relation R , the left (right) composition of fuzzy sets with R may be seen as an operator on $\mathcal{F}(A)$:

$$\phi(\mu) = R \circ \mu;$$

In order to make the things more general and applicable to many other situations, observe the following:

$$\phi(\mu) = \mu \circ R$$

Given a fuzzy relation R , the left (right) composition of fuzzy sets with R may be seen as an operator on $\mathcal{F}(A)$:

$$\phi(\mu) = R \circ \mu;$$

This is an operator on the set L^A , i.e. $\phi : L^A \rightarrow L^A$;

In order to make the things more general and applicable to many other situations, observe the following:

$$\phi(\mu) = \mu \circ R$$

Given a fuzzy relation R , the left (right) composition of fuzzy sets with R may be seen as an operator on $\mathcal{F}(A)$:

$$\phi(\mu) = R \circ \mu;$$

This is an operator on the set L^A , i.e. $\phi : L^A \rightarrow L^A$;
the operator is monotonous, i.e. order preserving.

In order to make the things more general and applicable to many other situations, observe the following:

$$\phi(\mu) = \mu \circ R$$

Given a fuzzy relation R , the left (right) composition of fuzzy sets with R may be seen as an operator on $\mathcal{F}(A)$:

$$\phi(\mu) = R \circ \mu;$$

This is an operator on the set L^A , i.e. $\phi : L^A \rightarrow L^A$;

the operator is monotonous, i.e. order preserving.

A fuzzy set μ is a solution to the inequation $R \circ \mu \leq \mu$ if and only if $\phi(\mu) \subseteq \mu$.

In order to make the things more general and applicable to many other situations, observe the following:

$$\phi(\mu) = \mu \circ R$$

Given a fuzzy relation R , the left (right) composition of fuzzy sets with R may be seen as an operator on $\mathcal{F}(A)$:

$$\phi(\mu) = R \circ \mu;$$

This is an operator on the set L^A , i.e. $\phi : L^A \rightarrow L^A$;

the operator is monotonous, i.e. order preserving.

A fuzzy set μ is a solution to the inequation $R \circ \mu \leq \mu$ if and only if $\phi(\mu) \subseteq \mu$.

For convenience, we shall take the dual case to the one we considered, in which $\phi(\mu) \supseteq \mu$.

Analogously and dually to the previous consideration we may prove the following theorem:

Analogously and dually to the previous consideration we may prove the following theorem:

Theorem

Let $\circ : \mathcal{F}(A) \rightarrow \mathcal{F}(A)$ be a monotonous operator. If $\mu \in \mathcal{F}(A)$ and $\mu \subseteq \mu^\circ$, there exists a superset of μ which is the least of all invariants of \circ containing μ . In particular, there exists the least of all invariants of a monotonous operator.

Analogously and dually to the previous consideration we may prove the following theorem:

Theorem

Let $\circ : \mathcal{F}(A) \rightarrow \mathcal{F}(A)$ be a monotonous operator. If $\mu \in \mathcal{F}(A)$ and $\mu \subseteq \mu^\circ$, there exists a superset of μ which is the least of all invariants of \circ containing μ . In particular, there exists the least of all invariants of a monotonous operator.

Thus, any fuzzy set mapped by a monotonous operator to a greater element is contained in another fuzzy set which is mapped to itself, and the set of such invariants has the minimum.

Analogously and dually to the previous consideration we may prove the following theorem:

Theorem

Let $\circ : \mathcal{F}(A) \rightarrow \mathcal{F}(A)$ be a monotonous operator. If $\mu \in \mathcal{F}(A)$ and $\mu \subseteq \mu^\circ$, there exists a superset of μ which is the least of all invariants of \circ containing μ . In particular, there exists the least of all invariants of a monotonous operator.

Thus, any fuzzy set mapped by a monotonous operator to a greater element is contained in another fuzzy set which is mapped to itself, and the set of such invariants has the minimum.

Dually, any fuzzy set mapped by a monotonous operator to a less or equal element contains another fuzzy set which is mapped to itself, and the set of such invariants has the maximum.

Now, we apply this to the following fuzzy relational operator

Now, we apply this to the following fuzzy relational operator

$$\phi(R) = R \circ R;$$

Now, we apply this to the following fuzzy relational operator

$$\phi(R) = R \circ R;$$

Clearly, this is a monotonous operator, mapping the transitive fuzzy relations (and only them) to lesser or equal relations.

Now, we apply this to the following fuzzy relational operator

$$\phi(R) = R \circ R;$$

Clearly, this is a monotonous operator, mapping the transitive fuzzy relations (and only them) to lesser or equal relations.

Theorem

For a transitive fuzzy relation $R \in \mathcal{F}(A \times A)$, there exists an exactly transitive relation $\underline{R} \subseteq R$, which is the greatest of all exactly transitive relations which are contained in R .

Applying this to the composition with the given fuzzy relation, i.e. to the following fuzzy set operator:

Applying this to the composition with the given fuzzy relation, i.e. to the following fuzzy set operator:

$$\phi(\mu) = \mu \circ R$$

Applying this to the composition with the given fuzzy relation, i.e. to the following fuzzy set operator:

$$\phi(\mu) = \mu \circ R$$

Theorem

Let μ be a fuzzy set on A over a complete lattice L , such that for all $x, y \in A$: $\mu(x) \wedge R(x, y) \leq \mu(y)$.

There exists the greatest of all fuzzy subsets ν of μ , such that the following equality holds:

$$\bigvee_{x \in X} (\nu(x) \wedge R(x, y)) = \nu(y).$$

In particular, there exists the greatest of all fuzzy sets ν , satisfying this equality.

But what if a fuzzy set μ is mapped by a monotonous operator to an element which is incomparable to μ ?

But what if a fuzzy set μ is mapped by a monotonous operator to an element which is incomparable to μ ?

Then it is contained in another element which is mapped by the same monotonous operator to a less or equal element, i.e. the following holds:

But what if a fuzzy set μ is mapped by a monotonous operator to an element which is incomparable to μ ?

Then it is contained in another element which is mapped by the same monotonous operator to a less or equal element, i.e. the following holds:

Theorem

Let $\circ : \mathcal{F}(A) \rightarrow \mathcal{F}(A)$ be a monotonous operator and $\mu \in L^A$; the fuzzy set defined by $\bar{\mu} = \bigcap \{ \nu \in \mathcal{F}(A) \mid \nu \supseteq \mu \cup \nu^\circ \}$ is the smallest fuzzy set containing μ that is mapped to its subset.

But what if a fuzzy set μ is mapped by a monotonous operator to an element which is incomparable to μ ?

Then it is contained in another element which is mapped by the same monotonous operator to a less or equal element, i.e. the following holds:

Theorem

Let $\circ : \mathcal{F}(A) \rightarrow \mathcal{F}(A)$ be a monotonous operator and $\mu \in L^A$; the fuzzy set defined by $\bar{\mu} = \bigcap \{ \nu \in \mathcal{F}(A) \mid \nu \supseteq \mu \cup \nu^\circ \}$ is the smallest fuzzy set containing μ that is mapped to its subset.

In addition, the mapping $\bar{\cdot} : \mathcal{F}(A) \rightarrow \mathcal{F}(A)$ defined by $\bar{\mu} = \bigcap \{ \nu \in \mathcal{F}(A) \mid \nu \supseteq \mu \cup \nu^\circ \}$ is a closure operator on $\mathcal{F}(A)$, i.e. a monotonous, extensive and idempotent operator.

But what if a fuzzy set μ is mapped by a monotonous operator to an element which is incomparable to μ ?

Then it is contained in another element which is mapped by the same monotonous operator to a less or equal element, i.e. the following holds:

Theorem

Let $\circ : \mathcal{F}(A) \rightarrow \mathcal{F}(A)$ be a monotonous operator and $\mu \in L^A$; the fuzzy set defined by $\bar{\mu} = \bigcap \{ \nu \in \mathcal{F}(A) \mid \nu \supseteq \mu \cup \nu^\circ \}$ is the smallest fuzzy set containing μ that is mapped to its subset.

In addition, the mapping $\bar{\cdot} : \mathcal{F}(A) \rightarrow \mathcal{F}(A)$ defined by $\bar{\mu} = \bigcap \{ \nu \in \mathcal{F}(A) \mid \nu \supseteq \mu \cup \nu^\circ \}$ is a closure operator on $\mathcal{F}(A)$, i.e. a monotonous, extensive and idempotent operator.

It comes out that $\bar{\mu}$ (closure of μ under the monotonous operator \circ) is an upper bound of all the elements we may get from μ applying the initial monotonous operator \circ and fuzzy set unions arbitrary many times.

Actually, the closure of a fuzzy set μ may be reached by an infinite application the initial fuzzy set operator and fuzzy set unions in a way described earlier.

Actually, the closure of a fuzzy set μ may be reached by an infinite application the initial fuzzy set operator and fuzzy set unions in a way described earlier.

Now, we are interesting in building the closure of a fuzzy set under a monotonous operator.

Actually, the closure of a fuzzy set μ may be reached by an infinite application the initial fuzzy set operator and fuzzy set unions in a way described earlier.

Now, we are interesting in building the closure of a fuzzy set under a monotonous operator.

Theorem

Let \circ be monotonous operator on $\mathcal{F}(A)$ commuting with the unions of increasing sequences of fuzzy sets, and \sim the operator defined by $\widetilde{\mu} = \mu \cup \mu^\circ$. If μ is a fuzzy set, we define a sequence of fuzzy sets $(\mu_n)_{n \in \mathbb{N}}$ inductively:

$$\mu_1 = \mu$$

$$\mu_{k+1} = \widetilde{\mu}_k \text{ for } k \in \mathbb{N}$$

$$\text{Now, let } \mu^c = \bigcup_{n \in \mathbb{N}} \mu_n$$

For any $\mu \in \mathcal{F}$, μ^c is the minimum of all fuzzy sets containing μ mapped by \circ to their subsets (i.e. each to its subset).

If the co-domain lattice L is algebraic, the following monotonous operators commute with the unions of increasing sequences:

If the co-domain lattice L is algebraic, the following monotonous operators commute with the unions of increasing sequences:

$$\phi(R) = R \circ R; (\phi : \mathcal{F}(A^2) \rightarrow \mathcal{F}(A^2))$$

If the co-domain lattice L is algebraic, the following monotonous operators commute with the unions of increasing sequences:

$$\phi(R) = R \circ R; (\phi : \mathcal{F}(A^2) \rightarrow \mathcal{F}(A^2))$$

$$\phi_R(\mu) = \mu \circ R \text{ (for any } R \in \mathcal{F}(A^2))$$

If the co-domain lattice L is algebraic, the following monotonous operators commute with the unions of increasing sequences:

$$\phi(R) = R \circ R; (\phi : \mathcal{F}(A^2) \rightarrow \mathcal{F}(A^2))$$

$$\phi_R(\mu) = \mu \circ R \text{ (for any } R \in \mathcal{F}(A^2)\text{)}$$

Applying the previous theorem to these two operators we get an algorithm for building the transitive closure of a fuzzy relation and an algorithm for building the closure of a fuzzy set under the composition with a given relation, i.e. the smallest fuzzy set closed under composition with that relation (greater than its composition with the relation).

If the co-domain lattice L is algebraic, the following monotonous operators commute with the unions of increasing sequences:

$$\phi(R) = R \circ R; (\phi : \mathcal{F}(A^2) \rightarrow \mathcal{F}(A^2))$$

$$\phi_R(\mu) = \mu \circ R \text{ (for any } R \in \mathcal{F}(A^2)\text{)}$$

Applying the previous theorem to these two operators we get an algorithm for building the transitive closure of a fuzzy relation and an algorithm for building the closure of a fuzzy set under the composition with a given relation, i.e. the smallest fuzzy set closed under composition with that relation (greater than its composition with the relation).

$$R_0 = R$$

If the co-domain lattice L is algebraic, the following monotonous operators commute with the unions of increasing sequences:

$$\phi(R) = R \circ R; (\phi : \mathcal{F}(A^2) \rightarrow \mathcal{F}(A^2))$$

$$\phi_R(\mu) = \mu \circ R \text{ (for any } R \in \mathcal{F}(A^2)\text{)}$$

Applying the previous theorem to these two operators we get an algorithm for building the transitive closure of a fuzzy relation and an algorithm for building the closure of a fuzzy set under the composition with a given relation, i.e. the smallest fuzzy set closed under composition with that relation (greater than its composition with the relation).

$$R_0 = R$$

$$R_{k+1} = R_k \cup R_k \circ R_k$$

If the co-domain lattice L is algebraic, the following monotonous operators commute with the unions of increasing sequences:

$$\phi(R) = R \circ R; (\phi : \mathcal{F}(A^2) \rightarrow \mathcal{F}(A^2))$$

$$\phi_R(\mu) = \mu \circ R \text{ (for any } R \in \mathcal{F}(A^2)\text{)}$$

Applying the previous theorem to these two operators we get an algorithm for building the transitive closure of a fuzzy relation and an algorithm for building the closure of a fuzzy set under the composition with a given relation, i.e. the smallest fuzzy set closed under composition with that relation (greater than its composition with the relation).

$$R_0 = R$$

$$R_{k+1} = R_k \cup R_k \circ R_k$$

$$R^T = \bigcup_{n \in \mathbb{N}} R_n \text{ is the transitive closure.}$$